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Subcontracting: Architectural View

my_phone: SMART_PHONE

create my_phone.make
list := my_phone.get_reminders

create {IPHONE_11_PRO} my_phone.make
list := my_phone.get_reminders
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Subcontracting: Example (1)

PHONE_USER SMART_PHONE

IPHONE_11_PRO

my_phone

my_phone: SMART_PHONE

create my_phone.make
list := my_phone.get_reminders

create {IPHONE_11_PRO} mine.make
list := my_phone.get_reminders
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shock : what works in parent does not work a child.
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Subcontracting: Example (2)

PHONE_USER SMART_PHONE

IPHONE_11_PRO

my_phone

my_phone: SMART_PHONE

create my_phone.make
list := my_phone.get_reminders

create {IPHONE_11_PRO} mine.make
list := my_phone.get_reminders
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Even if these two logical implications are 
not implemented during compile time due to poor design, 
the compiler won’t complain and it does not lead to a run time violation 
but it may only give shock to the user?

How is a Poor Design Checked at Runtime?
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In practice ③
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Multiple Inheritance: Exercise

Why does w1.descendants have 2 items instead of 4 (w1, w2, w3, w4)?
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The Composite Pattern: Architecture

ch: CHASIS
crd: VIDEO_CARD
d: DISK
create ch.make
create crd.make
create d.make
ch.add_child(crd)
ch.add_child(d)
crd.add_child(d)

Is `children: LIST[COMPOSITE]` a valid design?
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Quiz8: Polymorphic Return Values
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